Receiver Type
Duplex R18 EX

MeasureOrSetting
measure

Volt Min/Act/Max
4.80/5.00/5.00V

Signal level Rx
Ant1: 9  Ant2: 9

ot

On the JETIBOX LCD Display
shown Full Menus Duplex
EXReceivers:

Dasvom LCD-Bildschirm der
JETIBOX angezeigte Menii
der EmpfangerDuplex EX:
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MeasureOrSetting MeasureOrSetting MeasureOrSetting MeasureOrSetting

Main setting Channel Set Out Pin Set Auto set

i CHI-CH - ¥1-Y18

Signal Fault Delay | )5 SetInputChannel | - OF\nput(hanneI Set Output Pin for 18 pin outputs Preset To Setup «—

15s | step0,1s l A=1.50 CH1 | s actual input value Y1 ol | normal

/

Fail Safe Y1
Y=1.50 1.50 ms

d
SRS

1,40ms - 1,60ms .
Volt ACT/ALARM | 1.2 voltage Set Center CH1 ep 0,07 ms SetinChannel Y1 | ch1, MixCH1,.. PrFset To Setup
5.0V / 4.5V | _alarm voltage | A=1.50 1.50 | _Aisactualinputvalue CH1 3 MixCH1&CH2Elevon
Output Period Mix CH1 and CH1 < CHx Reverse AY1 offfon Preset To Setup <>
8ms-30ms Xis no. of Input Y=actual output . .
20 ms | step1ms | CH2 < channel | Y=1.50 off | .. | MixCH2&CH4V-Tail
RX mode PRSI 2o Mix Relation ReverseBY1 | O/ o
normal Jone mode 100% - Y=1.50  off | _alue |
" " 0% - 200%
Menu Display Rl Gain AY1 steop 5
Full |_ Reduced MixSign+ [ +/- Y=1.50  100% | _y=actual outputvalue
> Mix relation CH1 and CH2 )
0% - 200% of CH2 i D= >
step 1% o V= Gain BY1 step 1%
1:1= 100% = 50% CH1 and 50% CH2 =150 100% | Y=actual output value
:1=200% = 50% CH1 and 100% CH2 /
50% = 50% CH1 and 25% CH2 Signal Fault Y1 Leu"te;f‘f 7
Fail safe _Fail safe |

0.80 ms-2.20 ms
step 0.01Tms
Y=actual output value

Transmitter

RECEIVER SERVOS Delay Y1 0555
DUPLEXRx —— ¥=145_ 005 | stepois
EXT‘ IeiQ;grr]/emial/
linear ogarhitmical
Accessories ATV HighLimity1 | 160ms. 220ms

Qetibox

/

¥=1.50 1.80ms
Z

step

0.01ms
| &/=actual output value
«

ATV LowLimit Y1
Y=1.50 1.20 ms
Output TrimY1
Y=1.50 0.00 ms
Output Group Y1
Y=1.50 Grp:A

0.80 ms - 1.40 ms
step 0.01ms
lgl:actua( output value
-0.5ms to +0.5 ms
step 0.01ms
IEY:a(lual output value
Group A to Group H

IEY:adual output value
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